
The Industrial Revolution in Britain was a period of major . It took place

during the 18th and 19th centuries. This era saw a shift from an agrarian society to an

 one. Economic growth was a key feature of this transformation. Many

new  and methods of production emerged. Factories became the centers

of . They replaced sma$ workshops and home-based businesses. This

shift led to mass production of . Items that were once handmade became

machine-made.

One signi'cant change was in the  industry. The invention of machines

like the spinning jenny and the power  revolutionized this sector. These

machines increased the speed and e)iciency of  production. As a result,

Britain became a leading exporter of textiles. The iron and  industries

also saw substantial growth. Iron was essential for building machines and

. Coal was needed to power the new steam engines.

The development of  was another crucial factor. Railways improved the

transportation of goods and . They connected major cities and industrial

centers. This connectivity boosted  and commerce. People could move

more easily to 'nd work in growing industrial .

The Industrial Revolution also had social impacts. It created many new jobs and

. However, it also led to harsh working conditions. Many people worked

long hours in factories for low . Child labor was common. The rapid

urbanization led to overcrowded cities with poor living .

In summary, the Industrial Revolution in Britain was driven by signi'cant economic

. Advances in technology and production methods transformed the

country. This period laid the  for modern industrial economies.
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	task: 1. Fill in the gaps with the right words!
2. Scan the QR code to check your answers interactively!
3. Copy the text in your exercise book!
4. Formulate the content of the text yourself!
    Use all gap words!


